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[Solve the quadratic equation 15x% - 26x - 21 =0





image8.png
[Solve the quadratic equation 21x% - 12x + 1 =0

[A 0.074 0r 0.645 ) {B 0.101 or 0.470

{C -0.645 or 0.074 ) [D -0.470 or 0.101
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[Solve the quadratic equation 8x* +25x + 13 =0

[A 13579 o1 0.454 ) {B 0.659 or 2.466

{C -0.454 0r 3.579 ) [D 2,466 or -0.659
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Standard Form

The Standard Form of a Quadratic Equation looks like this:

ax?+ bx+c =0

« a, b and c are known values. a can't be 0.

e "x"is the variable or unknown (we don't know it yet).

Here are some examples:

2x2+5x+3=0 In this one a=2, b=5 and c=3

x2-3x=0 This one is a little more tricky:

« Where is a? Well a=1, as we don't usually write "1x*"
e b=-3
* And where is ¢? Well ¢=0, so is not shown.

5x-3=0 Oops! This one is not a quadratic equation: it is missing x?
(in other words a=0, which means it can't be quadratic)
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But sometimes a quadratic equation doesn't look like that!

For example:

x2=3x-1 Move all terms to left hand side x2 - 3x +1=0 a=1,b=-3,c=1

Expand (undo the brackets),

2 = = = —. =—
and move 5 to left 2w’ - 4w -5 =0 a=2,b=—4, c==5

2(w?-2w) =5

z(z-1) =3 Expand, and move 3 to left z22-z-3=0 a=1,b=-1,c=-3
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Using the Quadratic Formula

Just put the values of a, b and c into the Quadratic Formula, and do the calculations.

Example: Solve 5x%> + 6x + 1 = 0

Coefficients are: a=5,b=6,c=1

—b £ V(b® - 4ac)
2a

Quadratic Formula: X

—6 + V(6% — 4x5x1)

Putina, bandc: x

2x5
Solve: x = =0 % V(36— 20) V(36 - 20)
10

= =6 V(16)
10
—-6+4
x=_—=2

10

x=-02o0r -1
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Summary

Quadratic Equation in Standard Form: ax? + bx + ¢ = 0

Quadratic Equations can be factored

—b + V(b® - 4ac)
2a

Quadratic Formula: x =

When the Discriminant (b2—4ac) is:
* positive, there are 2 real solutions
* zero, there is one real solution

* negative, there are 2 complex solutions
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[Solve the quadratic equation 6x° + 7x -3 =0

[A x=130r-15 ) {B x=-130r L5

{C x=-1/60r3 ) [D x=1/60r-3
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[Solve the quadratic equation 4x* + 3x - 27 =0

{A r=450r —15 J {B z=—d450r L5

2250r —3

c

—2.25 or 3 ) [D





